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- PART A -~ (10 x 2 = 20 marks) _
1. Given that (BX) = 0158 (D) = 10Ab Displacement = 1B57 (DS) = 2100,

Determine the effective address and physical address for the. following
addressing modes. S :

(a) Register Indirect

{(b) Relative based indexed} ,
2. What are 11iacros?
3. Draw the format of th‘e Flag register.
4. Write the. advaﬁntages of lodsely coupled system ovler tightly coupled systems.
5 What is mocie 0 operation of 82557

6.  What are the operating modes in 82797

=

Which bits of the PSW are responsible for selection of the register banks?
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10,

L

12,

G

13.

14,

IFor an 8051 system of 11 0592 MHz, find the time delay f01 the following

subroutine:

- Machine Cycle
'+ DELAY:, MOV RS, #250 L '

HERE: NOP R

NOP 1

NOP - 1

NOP | 1

'DJINZ, R3, HERE 2

 RET 2

()

@

(a)

(b)

(a)

®

"What-afe'the different ‘modes in which timer 2 can operate?

"When is an e},tel nal memor. y access genelated in 805 1'?

PART B — (5 X 13 65 malks)

With neat block dlaglam explam - the 'architecf;u}"e' of 8086
-Mlcmplocessm T o

Or S

What ig Interrupt and inferr Upt lontlnp Explain interrupt sequence for

8086 Mmmpmcessm and mten upt pomtels

With neat block diagram, exp}am the architecture of 8086 in maximum

mode conﬁguratu}n Also explain the Bus tlmmg diagram for input and
cutput t1ansfe1 on a maximun mode.

O ¥

,E\{p}am the 1nte11upt system based on mult1p1e 8259 w1t11 necessa1y )
block diagram.

Draw the Block diagram and expiam the opeiatlons of 8251 senal
communication interface.

Or |
Bxplain in detail about interfacing of four LCD digits to 8086.

1) " A-D*{plain in detail about the 8051 register banks and stack. - (8)

(i) Show the ¢code to push R5, RG and A onto .the stack and then pop'

them back into R2, R3, and B whele reglstel B register A,

‘R2=R6,and RI=R6. . 5

Or

Bueﬂy explam about the various addressing modes of 8051 w1th one

example.
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15. (a)
(b)

16. ()
-(b)

Describe how to program and interface an LCD to an 8051 using
Assembly language programming. '

_ Or
Dyaw and explain the DAC ini:erfacing using 8051.

PARTC——GX15=15mmk®

(i) Dlscuss what happens if 1ntenupts INTOQ, TFO, and INTI are
activated at the same time. Assume priority levels were set by the
power-up reset and that the extelnal ha1 dware mtenupts are edge-
triggered. : D

(i) With necessary diagrams e'.xplain ‘how to interfaée LM35
temperature sensor and then = discuss the issues of signal
_conditioning. ~ o e

(i) Discuss the number of pin s'éts' aSide for addresses in each of the

following memory chlps (1) IGK X 4 DRAM and (2) 16 K x 4 SRAM.

o . , (@)
.(ii) Bueﬂy explam about the 111te1fac1ng of 8{)01 w1th extelnal data o
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